

في لغة أخرى (أو اللغة الإنجليزية)  $\delta = \delta_1$   $\delta = \delta_2$   $\delta = \delta_1$   $\delta = \delta_2$

السؤال الأول 35 رتبة 20

$f: \mathbb{R}^n \rightarrow \mathbb{R}$  ما بين  $f$  قابلة للاشتقاق في  $c \in \mathbb{R}^n$   $\delta > 0$   $\delta_1$   $\delta_2$   $\delta = \delta_1$   $\delta = \delta_2$   $\delta = \delta_1$   $\delta = \delta_2$

$f(c+h) - f(c) = \sum_{i=1}^n A_i h_i + \eta \|h\|$   $\eta \rightarrow 0$   $\|h\| \rightarrow 0$   $\|h\| < \delta_1$   $\delta = \delta_1$   $\delta = \delta_2$   $\delta = \delta_1$   $\delta = \delta_2$

$$|f(c+h) - f(c)| = \left| \sum_{i=1}^n A_i h_i + \eta \|h\| \right|$$

$$\leq \sum_{i=1}^n |A_i| |h_i| + |\eta| \|h\|$$

$$\leq \sum_{i=1}^n |A_i| \|h\| + |\eta| \|h\|$$

$$\leq \left( \sum_{i=1}^n |A_i| + |\eta| \right) \|h\|$$

نأخذ  $\delta_2$   $\delta = \delta_2$   $\delta = \delta_1$   $\delta = \delta_2$   $\delta = \delta_1$   $\delta = \delta_2$   $\delta = \delta_1$   $\delta = \delta_2$

$$|f(c+h) - f(c)| \leq \left( \sum_{i=1}^n |A_i| + 1 \right) \|h\|$$

$K = \sum_{i=1}^n |A_i| + 1$   $\delta = \min(\delta_1, \delta_2)$   $c+h=x$

$$|f(x) - f(c)| \leq K \|x - c\|$$

$$l_1 = \langle x, y \rangle = \langle x, 0 \rangle = \langle x, 0 \rangle = 0$$

$$l_2 = \langle x, x \rangle = \langle y, y \rangle = \langle x, x \rangle = \langle y, y \rangle = \langle x, x \rangle = \langle y, y \rangle$$

$$l_1 = l_2 \Rightarrow$$

في لغة أخرى (أو اللغة الإنجليزية)  $\delta = \delta_1$   $\delta = \delta_2$   $\delta = \delta_1$   $\delta = \delta_2$   $\delta = \delta_1$   $\delta = \delta_2$

$$\text{مثال 51} \quad f(x, y) = \ln(3)$$

$$\text{مثال 51} \quad \frac{1}{1!} \left( h \frac{\partial f}{\partial x} (1,1) + k \frac{\partial f}{\partial y} (1,1) \right) = \frac{4h}{3} + \frac{k}{3}$$

$$\text{مثال 51} \quad \frac{1}{2!} \left( h^2 \frac{\partial^2 f}{\partial x^2} (1,1) + 2hk \frac{\partial^2 f}{\partial x \partial y} (1,1) + k^2 \frac{\partial^2 f}{\partial y^2} (1,1) \right) = \frac{1}{9} \frac{h^2}{9} - \frac{4hk}{9}$$

$$f(h+1, k+1) = \ln(3) + \frac{2h}{3} + \frac{k}{3} + \frac{h^2}{9} - \frac{4hk}{9} - \frac{k^2}{18}$$

$$f(x, y) = \ln 3 + \frac{2(x-1)}{3} + \frac{y-1}{3} + \frac{(x-1)^2}{9} - \frac{(x-1)(y-1)}{9} - \frac{(y-1)^2}{18}$$

$$0 \leq \langle x, x \rangle - 2a \langle x, y \rangle + a^2 \langle y, y \rangle$$

$$a = \frac{\langle x, y \rangle}{\langle y, y \rangle}$$

$$0 \leq \langle x, x \rangle - 2 \frac{\langle x, y \rangle^2}{\langle y, y \rangle} + \frac{\langle x, y \rangle^2}{\langle y, y \rangle^2} \langle y, y \rangle$$

$$0 \leq \langle x, x \rangle - 2 \frac{\langle x, y \rangle^2}{\langle y, y \rangle} + \frac{\langle x, y \rangle^2}{\langle y, y \rangle}$$

$$\leq \langle x, x \rangle - \frac{\langle x, y \rangle^2}{\langle y, y \rangle}$$

$$0 \leq \langle x, x \rangle \langle y, y \rangle - \langle x, y \rangle^2$$

$$\Rightarrow \langle x, y \rangle^2 \leq \langle x, x \rangle \langle y, y \rangle$$

$$\forall x, y \in X$$

المتباينة صحيحة

المثال الثاني (20)

$$f(x, y) = 4x^2 - 2x^2y + y^2$$

$$f_x(x, y) = 8x - 4xy = 0 \Rightarrow 4x(2 - y) = 0 \Rightarrow \begin{cases} x = 0 \\ y = 2 \end{cases}$$

$$f_y(x, y) = -2x^2 + 2y^2 = 0 \Rightarrow \begin{cases} x = 0 \\ y = 2 \end{cases}$$

نقطة حرجية

$$y = 0 \Rightarrow 2y^2 = 0 \Rightarrow x = 0$$

نقطة حرجية

$$x^2 = 4 \Rightarrow x = \pm 2$$

$$-2x^2 + 8 = 0 \Rightarrow y = 2$$

نقطة حرجية

$$x = \pm 2 \Rightarrow (-2, 2), (2, 2)$$

نقاط حرجية:  $(0, 0), (2, 2), (-2, 2)$

$$f_{xx} = 8 - 4y$$

$$f_{xy} = -4x$$

$$f_{yy} = 4y$$

$$f_{xx}(0, 0) = 8 > 0, f_{xy}(0, 0) = 0, f_{yy}(0, 0) = 0$$

$$D_1 = 8 > 0$$

$$D_2 = \begin{vmatrix} 8 & 0 \\ 0 & 0 \end{vmatrix} = 0$$

فإننا يمكننا كتابتها

$$f(0, 0, 5) \geq f(0, 0)$$

لأنه (نقطة حرجية)

$$f(0, 0, 5) = 4 \cdot 5^2 = 100 > 0 = f(0, 0)$$

$$f(0, 0, 5) \geq f(0, 0)$$

لأنه (نقطة حرجية)

$$f(0, 0, 5) = 4 \cdot 5^2 = 100 > 0 = f(0, 0)$$

$$(0, 0, 5) \in [2]$$

$$\Delta_1 = 16 - 2(4)(2) + 4 \geq 4 > 0$$

(2, 2) جا

$$\Delta_2 = \begin{vmatrix} 0 & -8 \\ -8 & 8 \end{vmatrix} = -64 < 0$$

(2, 2) جا

$$\Delta_1 = 4 > 0$$

(-2, 2) جا

$$\Delta_2 = \begin{vmatrix} 0 & 8 \\ 8 & 8 \end{vmatrix} = -64 < 0$$

(-2, 2) جا

$$\ll f(h, k) - f(0, 0) = h f_x(0, 0) + k f_y(0, 0) + \eta \sqrt{h^2 + k^2}$$

$$f_x(0, 0) = \lim_{h \rightarrow 0} \frac{f(h, 0) - f(0, 0)}{h} = \lim_{h \rightarrow 0} \frac{0 - 0}{h} = 0$$

$$f_y(0, 0) = \lim_{h \rightarrow 0} \frac{f(0, h) - f(0, 0)}{h} = \lim_{h \rightarrow 0} \frac{0 - 0}{h} = 0$$

$$\frac{h^2 k}{h^4 + k^2} \rightarrow 0 = \eta \sqrt{h^2 + k^2} \Rightarrow \eta = \frac{h^2 k}{(h^4 + k^2)(h^2 + k^2)^{\frac{1}{2}}}$$

$$\eta = \frac{h^3}{(h^4 + k^2)(2h^2)^{\frac{1}{2}}} = \frac{h^3}{h^2(h^2 + 1)(2)^{\frac{1}{2}} h}$$

(h=k جا)

$$= \frac{h^3}{h^3(h^2 + 1) 2^{\frac{1}{2}}} = \frac{1}{\sqrt{2}(h^2 + 1)} \xrightarrow{h \rightarrow 0} \frac{1}{\sqrt{2}} \neq 0$$

(0, 0) جا  $\lim_{(h,k) \rightarrow (0,0)} \eta \neq 0$   $\Rightarrow f$   $(0, 0)$  جا  $\nabla f$   $\neq 0$

$$\text{III } f(a+h, b+k) - f(a, b) = \sum_{n=1}^m \frac{1}{n!} \left( h \frac{\partial}{\partial x} + k \frac{\partial}{\partial y} \right)^n f(a, b) + R_{m+1}$$

$$f(x, y) = \ln(3)$$

$$f_x(x, y) = \frac{2x}{x^2 + y^2} \Rightarrow f_x(1, 1) = \frac{2}{2} = 1$$

$$f_y(x, y) = \frac{1}{x^2 + y^2} \Rightarrow f_y(1, 1) = \frac{1}{2}$$

$$f_{xx}(x, y) = \frac{2(x^2 - y^2) - 4x^2}{(x^2 + y^2)^2} \Rightarrow f_{xx}(1, 1) = \frac{2(1 - 1) - 4}{(1 + 1)^2} = \frac{-4}{4} = -1$$

$$f_{yy}(x, y) = \frac{-1}{(x^2 + y^2)^2} \Rightarrow f_{yy}(1, 1) = \frac{-1}{(1 + 1)^2} = \frac{-1}{4}$$

$$f_{xy}(x, y) = \frac{-4xy}{(x^2 + y^2)^2} \Rightarrow f_{xy}(1, 1) = \frac{-4}{4} = -1$$

(3)